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K INEELT > =

B K £ T B 2E KK icE
1 BAR ek A4 h~ U ER /N6 14/ 2 29. 67 9%k ( 0.67)
2 fEAR = ISSZ =E:x /N6 14/ 4 30.03 9% ( 0.79)
3 M EHE A h~rFF /N6 13/ 5 30. 25 9% ( 0.64)
4 UK MEN A F~ B /N5 14/ 1 30. 34 10#% ( 0.61)

- JOC
5 NH &K 2% /SS N6 14/ 7 30. 35 9% ( 0.70)
6 =l A o) I EH /N6 14/ 8 31.01 8fk ( 0.62)
7 4 2 Fe H7 SS A= B /N5 11/ 6 31.04 9% ( 0.65)
8 JIWE K MY S 4220t /N6 14/10 31.19 8% ( 0.79)
9 WM&} A4 h~rFEF /N6 13/ 2 31. 34 8tk (0.72)
10 #K Vs oI EW /N6 13/ 1 32.19 7% (0.65)
11 K& WIS C /N6 13/10 32.22 7#%  ( 0.63)
12 AR e MY S 4 5% /N6 10/ 9 32. 49 7#%  ( 0.69)
13 ffk  HEd VASZ =P == /N6 12/ 6 32. 51 % ( 0.63)
14 f&il a5 TS Sk /N6 12/10 32.53 % ( 0.62)
15 FEEH AE A kv 7SC /N5 12/ 5 32.55 8#% ( 0.61)
16 1% |=ifF TS SH)l /NG 12/ 7 32. 61 8% ( 0.64)
17 NH AEdd A b~ /N 11/ 5 32.75 10#% ( 0.63)
18 ZRH  MEHR A F= 2 EH A4 13/ 9 32.76 10%% ( 0.66)
19 I REA HW7H eSS N6 12/ 9 32.83 #  (0.71)
20 48 JAA A h~ B /N 11/ 3 32.85 104% ( 0.57)
21 BHtR B MY S 4 6% /N6 10/10 33.23 6% ( 0.84)
22 HA K HE A4 N5 12/ 1 33.25 8% ( 0.64)
23 JHH ST Ky 7SC /N3 10/ 3Joc 33.35 11%% ( 0.65)
24 (. EA J S SHJI /N 10/ 6 33. 47 9%k ( 0.62)
25 B fHE HEKy7SC N5 11/ 9 33.55 8#%k (0.62)
26 HE 5 A4 h~ U 4E N6 11/ 7 33.60 6% ( 0.58)
27 WAt EEE 5SS EH /N3 11/ 4 33. 81 10%% ( 0.54)
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28 =K Al MY S 4240 NG 9/ 7 33.89 65% ( 0.67)
29 NNEE 2 I ISSZ=E:s /N5 10/ 1 33.93 7#%  ( 0.63)
30 B EA A =B /N6 10/ 5 33.97 6% ( 0.65)
31 il mEF 7S SHI /N5 10/ 4 33.98 Tk ( 0.59)
32 KB B TS SHJI A 11/ 8 34. 04 9%% ( 0.55)
33 AKE FHK HEH A N 11/ 1 34. 49 7% ( 0.63)
33 ik BASF TS S AN 11/ 2 34. 49 9%% ( 0.71)
35 —F MK MY S 4 “#b% /N6 8/ 3 34.58 58k (0.73)
36 MA  FnAH fmHSC N6 12/ 8 34. 66 5%k ( 0.72)
37 HTF  TuE A b~ 8 /N3 7/ 2 35.25 9%% ( 0.80)
38 AH 2 BESS /NG 8/ 5 35.39 65% ( 0.63)
39 A KB RS C /NG 7/ 8 35.52 6%  ( 0.69)
40 gt FAAE A FFEEH NS 9/ 3 35.92 6% ( 0.66)
41 Bl Bk A v /N3 9/ 6 36.03 9%% ( 0.63)
42 A FER MY S 4 5bt /N4 6/ 4 36. 11 8% (0.71)
43 BRI R HEHZA4 /NG 8/ 1 36. 17 65% ( 0.60)
44 FHN O OEE )5S SEH /N4 9/ 4 36. 28 8% ( 0.81)
45 TE)I|  Fase o) IEH NG 9/10 36. 37 4%%  ( 0.75)
46 [ REEEIK IS C NG 9/ 2 36. 39 4% ( 0.61)
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47 BOR Tk HIT7AHSS /N5 8/ 6 36. 42 5%k  ( 0.72)
48 FigE 2 T A NMEIT /N6 5/ 3 36. 44 4%% ( 0.79)
49 K& Eth 7Y ESS /N5 7/ 4 36. 65 5%k  ( 0.75)
49 Ky HERE kv 7S C /NG 9/ 1 36. 65 5%% ( 0.63)
51 A8 EE k> 7S C /N5 7/ 5 36. 87 5#%% ( 0.61)
52 A BE HIT7AHS S /N5 7/ 1 36. 96 5%% ( 0.66)
53 & o oI EMW NG 7/ 3 36.98 3tk ( 0.88)
54 AR BEFH e 7 SSAEE /N4 6/ 6 36.99 7#% ( 0.65)
55 FZJH R JSsHJl NG 4/ 5 37.30 3% (0.67)
56 AR HiifE A4 h~ U BELH N2 5/ 5 37. 44 11#%  ( 0.69)
57 UM R Sz 3=Fie /N4 8/ 8 37.72 Tk (0.74)
58 LK KER oI EW NS 6/ 3 38.00 65% ( 0.91)
59 [EfH KR = L E KM /N5 8/ 2 38.03 4%%  ( 0.73)
60 FhE & A4 6 T/ 6 38. 21 4%%  ( 0.82)
61 & HEf ISeZI=F:r NS 7/ 9 38.25 65% ( 0.70)
61 JiH  HEif mHSC NG 8/ 9 38.25 2%%  ( 0.92)
63 U 1 MER H7YESS /N6 4/ 7 38.47 2%% (0.75)
64 KR fiH J S sl NG 4/10 38.56 28% (0.71)
65 [UA B8 J S SKBK NG 3/ 8 38.57 28%  (0.74)
66 F)I B 7 S SHPk /N4 7/ 1 39.02 6% ( 0.76)
67 Kl m ISSZ J=E: = /N3 6/ 1 39. 14 T (0.64)
68 [ft PR A b~ EF /N4 6/10 39.17 6% ( 0.74)
69 FAH: % mHESC NG 6/ 2 39.77 % ( 0.70)
70 P RS KfdS C /N4 6/ 7 39.98 5%k (0.71)
71 1A B ] SS@|+ /NG 5/ 6 40. 09 3 (0.74)
72 B REE KALS C /N5 6/ 9 40. 16 3tk (0.77)
73 BEMD AR ISeZI=F:r /N 5/ 2 40. 46 5#%  ( 0.30)
74 £ K0 oI EMW /N4 4/ 9 40. 50 5%k ( 0.65)
75 EEP R LKk 777 /NG 4/ 4 40. 51 28%  (0.71)
6 AR B J S sl /N4 4/ 3 40. 63 5#% ( 0.78)
77 ¥ B A4 b~ EF /N3 3/ 3 40. 65 6% (0.74)
78 KL A0y Hhv7SC /N3 5/ 9 40. 66 65% ( 0.72)
79 PR KK BHSS /N4 6/ 8 40. 68 5#%% ( 0.60)
80 Tkt FIK A4 h~FF /M 5/10 40. 69 58k  (0.69)
81 f&H HALG VINOZ-J=E:s /N3 4/ 6 40. 71 65% ( 0.86)
82 MEA IKZE A4 v~ FIF /N3 2/ 5 40. 73 65% ( 0.87)
83 KH Yt 5SS EH /N2 5/ 1 41.18 *F8) 9% ( 0.69)
84 Mk f&H VASOZ J=Eie /N2 3/ 9 41.54 9% ( 0.62)
85 74 B A4 = FEF /M 2/ 4 41. 61 4% (0.74)
86 KiE HE L MBS#/n" =7 /NG 3/ 6 41.83 4%% (0. 80)
87 AR /R 7 2 ~SC /N4 3/ 2 41.90 5% ( 0.65)
88 FH % A h~rFETF /N3 4/ 1 41.99 5#% ( 0.65)
89 /|NRf S k7S C /N3 3/ 1 42.02 5#% ( 0.65)
90 H oAy ABR ATEISC /N 3/10 42.10 4% (0.70)
91 VI EH A h~EF /N2 2/ 2 42.30 8#% ( 0.70)
92 [UAR ki ASZ3EE:S /N2 3/ 5 42. 46 8% ( 0.83)
93 maih 2P JSSHT NS 3/ 7 42.76 %% (0.67)
94 gnA FREME ] SSH¥+ /N4 5/ 4 42. 80 3% (0.73)
94 Pix RKK— EINVSRAWAN /N 5/ 8 42. 80 3%k (0.63)
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96 JHH jIEN %€/ SS /N4 1/ 6 44. 86 2%%  ( 0.62)
97 SFH JER a%/SS /NG 2/ 6 45. 02 28%  ( 0.85)
98 &M Y a% /S S ) 2/ 9 45.12 ( 0.87)
99 Bk —#f ASeZ =k = /N3 2/ 1 45. 69 3f%k ( 0.81)
100 HARL 2 il H7Y eSS /N 1/ 2 45.73 L#k  (0.82)
101 [l 2 w7V eSS /N3 1/ 7 45.79 3k (0.74)
102 5k K MY S 45 /N2 2/ 8 46. 61 6% ( 0.75)
103 A HHE KER FEAS S /N2 1/ 5 46. 93 65% ( 0.75)
104 H&x  Foid mHSC /N4 3/ 4 46. 99 ( 0.77)
105 e URE J S sHJi /N2 1/ 4 47.02 68% ( 0.68)
106 AR HEE B7Y% eSS /N 1/ 3 52.27 ( 0.75)
A J S sl /N 1/ 8 k#88.3 [— )
JideE 7Y eSS N 4/ 8 %£4%8.3 — )
NP NE] WIS C N5 B/ T 44883 (e )
No.24 BF 50m /N2 754 BALL—R R }
x£55R 26. 40
L HBEE >
BRI K 4 T & SE KR B E
1 ZEAERK A b~ HF 2 16/ 3 26. 85 1#%  ( 0.69)
1 AR &R HEESC HF3 16/ 6 26. 85 9%k ( 0.61)
3 sk FHar WEIS C 2 15/ 7 28.22 9%% ( 0.64)
4 HE B =ty 3 15/ 5 28. 47 % (0.71)
5 /it HESE BHSS Fo 16/ 1 28. 64 8f% ( 0.65)
6 HH AL HEES C 11 15/ 8 29.15 9%k ( 0.67)
T @A R AU A 3 15/ 9 29. 42 65% ( 0.74)
8 ik wAd AquaZzZ 1 15/10 29.53 8#% ( 0.60)
9 JToflhe RER BHSS 2 15/ 2 29. 68 %%  ( 0.62)
10 I BBH I S SR 2 14/ 6 29.78 % (0.74)
11 #A &KE v— F SR F2 14/ 3 29.92 %  (0.79)
12 1k KIF SCHZ 2 13/ 6 30.70 6% ( 0.63)
13 #H  HH oI EH 3 14/ 9 30.78 5%%  ( 0.70)
14 =ik kb 7S SsHJI 1 13/ 4 30. 87 8#% ( 0.76)
156 &4 th HKy7SC F2 13/ 8 30. 95 65% ( 0.69)
16 LA Lk 1S Sk 2 13/ 7 31.10 % (0.78)
17 i HEE A h~ 4R m3 15/ 1 31.22 5%k (0.74)
18 FHF oFIEH 112/ 3 31.69 6% ( 0.68)
19 @ B4 oI EH 1 13/ 3 31.85 65% ( 0.83)
20 /PR {EER ] SSHT F2 12/ 4 32.67 4% (0.63)
21 #rik B B H< )T 112/ 2 32.76 58k (0.74)
22 W PR T [ HP AR 13 9/ 5 33.03 3% ( 0.68)
23 Ll 1B AquaZ F111/10 33.36 58 (0.71)
24 KiE &K BHSS 1 10/ 8 34.14 4%%  ( 0.70)
25 A Bk A4 b~ 40 1l 10/ 7 36. 07 28%  (0.72)
26 A EIA T ] e 2 2/ 3 36. 27 2%%  (0.74)
27 JEE B Ay A AER DU H 1 8/10 36. 39 2%% ( 0.65)
28 F T 7R FTH S C 12 8/ 7 36. 60 ( 0.64)
29 ZH  flE WAYS ==t 12 7/10 36. 86 ( 0.68)
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1 JE H T KEA B =2 17/ 6 ( 2)5. 05 10#% ( 0.64)
- JOC(CS
2 1KYy A ATEISC =2 17/ 7 25. 69 9%k ( 0.61)
3 i HE BERALKS =3 17/ 8 25.70 9%k ( 0.56)
4 gR JiE A b= HES =3 18/ 1 25.78 9%% ( 0.60)
b HiFH sl ~ v 7PR—5% =52 17/ 2 25.79 9%% ( 0.60)
6 HijH = T A NMEIT =2 16/ 5 26. 58 S8t (0.72)
T MR A oI EW =2 17/10 26. 66 S8 (0.71)
8 fH JHA K 7SS A= B =2 16/ 7 27.13 8f% ( 0.58)
9 JRIRF —K FV T E3 16/ 4 27. 31 8k ( 0.66)
10 5K 1t BB =2 16/ 8 27. 47 8f% (0.62)
11 K5 &K FU T =1 15/ 3 27.49 8#% ( 0.62)
12 Gk 1% & HT7HESS =2 16/ 9 27. 64 7#%  ( 0.68)
13 My KRR oI EMW =1 16/10 27. 81 8#% ( 0.64)
14 WEHL K B =3 15/ 6 27. 84 #% ( 0.61)
15 TN 1&H FV T =2 15/ 4 28. 04 Tk (0.67)
16 =i JE T T =2 14/ 5 28. 68 6% ( 0.64)
17 =% E% 4 T3 =3 9/ 8 35.44 Ltk ( 0.70)
No.24 BF 50m /N2 754 R A LL—R R ]
REiotk 24.00
L —fE >
BRI K % T & PE K =G
3 fii HH T2 18/ 6j( ﬁ23. 99 10#%  ( 0.60)
PN
2 N KN R x4 18/ 5 24. 06 108% ( 0.61)
3 PRA Hith = AR, 18/ 3 24. 11 10#% ( 0.63)
4 &R HE NN K3 18/ 4 24. 35 10#% ( 0.58)
5 friE BB ERUN K1 18/ 8 24. 55 9%  ( 0.64)
6 HHE FHI AL R 18/ 9 24. 65 9%% ( 0.62)
T Bk O TL FRTR X1 18/ 7 24.92 9%k ( 0.63)
8 [H 5Lk FRTR X1 17/ 3 25.03 9%% ( 0.65)
9 ik & SN K2 18/ 2 25. 11 9%k ( 0.61)
10 il mEE VN X3 17/ 5 25.18 9%k (0.71)
11 fhi NN K1 17/ 4 25. 65 8f% ( 0.62)
12 ®N k& 7 55 R X1 17/ 1 25.717 8% ( 0.62)
13 Pakf 2= R X2 18/10 26. 32 8t ( 0.67)
14 ZHEE K LN X3 17/ 9 26. 39 8#% ( 0.65)
15 fe¥y =3 MBS#/n" =7 X2 16/ 2 27. 51 7%  (0.73)
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